
MATHS

BOOKS - RD SHARMA MATHS (ENGLISH)

LINEAR INEQUATIONS

Others

1. Show that the solution set of the following linear
 in

equations is an unbounded set:

Watch Video Solution

x + y ≥ 9, 3x + y ≥ 12, x ≥ 0, y ≥ 0.

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_1XWfA2h2ZLPK


2. Solve the following inequations grapihically:
 
 (ii) 

Watch Video Solution

(i)|x| ≤ 3

|y − x| ≤ 3

3. Exhibit graphically the solution set of the linear
inequations

Watch Video Solution

x + y ≤ 5, 4x + y ≥ 4, x + 5y ≥ 5, x ≤ 4, y ≤ 3

4. Solve each of the following system of equations in


Watch Video Solution

R.

x + 5 > 2(x + 1), 2 − x < 3(x + 2),

https://dl.doubtnut.com/l/_n56gbLR9dHpS
https://dl.doubtnut.com/l/_A2zh7t8DSGRE
https://dl.doubtnut.com/l/_T4agN5p62Sp9
https://dl.doubtnut.com/l/_hiemaZhe2O8U


5. Solve the following linear inequations:
 (i) 
 (ii) 

Watch Video Solution

> 0
x − 3

x − 5

> 2
x − 2

x + 5

6. Solve: 

Watch Video Solution

5 ≤ ≤ 9
2 − 3x

4

7. 

Watch Video Solution

− 2 ≥ − 6
2x − 3

4

4x

3

8. Solve the following linear inequations in R.

+ ≥
5x

2

3x

4
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4

https://dl.doubtnut.com/l/_hiemaZhe2O8U
https://dl.doubtnut.com/l/_OdXFBanRAO4k
https://dl.doubtnut.com/l/_lbfv6N7H9XFj
https://dl.doubtnut.com/l/_q1m2JQoDdfG0


Watch Video Solution

9. Solve the following system of linear inequations:

Watch Video Solution

3x − 6 ≥ 0

10. Solve the following linear inequations in 


Watch Video Solution

R. < 4
7x − 5

8x + 3

11. Solve the following linear inequations in 


Watch Video Solution

R. < 2
5x + 8

4 − x

https://dl.doubtnut.com/l/_q1m2JQoDdfG0
https://dl.doubtnut.com/l/_TQ5gN5BXbv6g
https://dl.doubtnut.com/l/_Ghp6dULJUBo7
https://dl.doubtnut.com/l/_rF607MtGQMjx


12. A company manufactures cassettes and its cost and

revenue functions for a week are  and 

respectively, where 
 is the number of cassettes produced

and sold in a week. How many
cassettes must be sold for the

company to realize a profit?

Watch Video Solution

C = 300 + x
3

2
R = 2x

x

13. A solution is to be kept between 
and 
 . What is

the range in temperature in degree Celsius (C) if the
Celsius /

Fahrenheit (F) conversion formula is given by

Watch Video Solution

68oF 77oF

F = C + 32?
9

5

https://dl.doubtnut.com/l/_PoeUnGwmYKI5
https://dl.doubtnut.com/l/_c2N4AsE7hCfi


14. Show that the following system of linear equations in R

Watch Video Solution

5x + 4 > 2x − 1

15. Solve each of the following system of equations in


Watch Video Solution

R.

0 < < 3
−x

2

16. Solve each of the following system of inequations in


Watch Video Solution

R.

≥
2x − 3

3

4x

3

https://dl.doubtnut.com/l/_LIAc63VOyZ6W
https://dl.doubtnut.com/l/_QybxsiIVDcJq
https://dl.doubtnut.com/l/_qLUkS5UyBSvQ
https://dl.doubtnut.com/l/_LSgT9cLVM2Bj


17. Write the solution set of inequation 

Watch Video Solution

∣
∣
∣
x +

∣
∣
∣
> 2.

1

x

18. Solve each of the following system of inequations in


Watch Video Solution

R

= 0.
2x − 1

3

19. Write the solution set of inequation: 
  

belongs to Natural Number.

Watch Video Solution

(x − 2) < 0. x

https://dl.doubtnut.com/l/_LSgT9cLVM2Bj
https://dl.doubtnut.com/l/_AEUh5FQggErV
https://dl.doubtnut.com/l/_NAea4T1SfDYd


20. Solve each of the following system of equations in


Watch Video Solution

R.

|x − 1| + |x − 2| + |x − 3| ≥ 6

21. Solve each of the following system of equations in
  : If

Watch Video Solution

R

|x + 1| + |x| > 6

22. Solve each of the following system of equations in


Watch Video Solution

R.

≤
1

|x| − 3

1

2

https://dl.doubtnut.com/l/_BcpZQf1N3Hip
https://dl.doubtnut.com/l/_czlrgXJFqRqV
https://dl.doubtnut.com/l/_7dYnuXtHgiFZ
https://dl.doubtnut.com/l/_DSDBy5bQp8xy


23. Solve: 

Watch Video Solution

|x − 1| + |x − 2| ≥ 4

24. Solve: 

Watch Video Solution

< 0.
5x − 1

x + 2

25. Write the solution set of inequation: 


Watch Video Solution

∣
∣
∣

∣
∣
∣

1

x − 2

< 4, x ≠ 4.

26. Solve: 

Watch Video Solution

> 1
|x + 3| + x

x + 2

https://dl.doubtnut.com/l/_DSDBy5bQp8xy
https://dl.doubtnut.com/l/_YQDP0uaqE9K5
https://dl.doubtnut.com/l/_uKZXLTJ0OR7a
https://dl.doubtnut.com/l/_rmSQ3y9Gie6a


27. Solve: 

Watch Video Solution

≥ 0, x ∈ R, x ≠ ± 2.
|x| − 1

|x| − 2

28. Solve: 

Watch Video Solution

≥ 1, wherex ∈ R, x ≠ ± 2.
−1

|x| − 2

29. Solve each of the following system of equations in


Watch Video Solution

R.

1 ≤ |x − 2| ≤ 3

https://dl.doubtnut.com/l/_rmSQ3y9Gie6a
https://dl.doubtnut.com/l/_lMc84IVgylMe
https://dl.doubtnut.com/l/_QIudS4qU3HOo
https://dl.doubtnut.com/l/_KSsnmvlKaas7


30. Solve each of the following system of equations in


Watch Video Solution

R.

1 ≤ |x − 2| ≤ 3

31. Solve the following system of equations in
 .

Watch Video Solution

R

≤ 3 ≤ , x > 0
4

x + 1

6

x + 1

32. Solve: 

Watch Video Solution

|x − 2| ≥ 5

https://dl.doubtnut.com/l/_Ha6YmRHtCuJe
https://dl.doubtnut.com/l/_PfgANNsPEmax
https://dl.doubtnut.com/l/_gNgGR4PuPPxX


33. Solve the following linear inequations:


Watch Video Solution

> 0
x − 3

x − 5

34. Solve the following linear inequations in 

Watch Video Solution

R.

− 3 < − 2
2(x + 3)

4

x − 4

3

35. Solve the following linear inequations:


Watch Video Solution

> 0
x − 2

x + 5

https://dl.doubtnut.com/l/_Co6RPfFf5OUQ
https://dl.doubtnut.com/l/_wnetCSxgQmNE
https://dl.doubtnut.com/l/_ndakIaqoWjkn


36. Solve the following linear inequations in 

Watch Video Solution

R.

− 3 < − 2
2(x + 3)

4

x − 4

3

37. Solve 
when x is an
integer

Watch Video Solution

5x − 3 < 3x + 1

38. Solve the following equations:
 +

Watch Video Solution

3x + 17 ≤ 2(1 − x)

2(2x + 3) − 10 ≤ 6(x − 2)

https://dl.doubtnut.com/l/_VNjvyW8SqkJr
https://dl.doubtnut.com/l/_HSlGbJMk9W03
https://dl.doubtnut.com/l/_JWLtC28Z5Sbt


39. Solve the inequalities for real x :

Watch Video Solution

< −
x

4

(5x − 2)

3

(7x − 3)

5

40. In the first four papers each of  marks, Rishi got  

   marks. If he wants an average of greater than or

equal to  marks and less than  marks, find the range of

marks he should score in the fifth paper.

A. 

B. 

C. 

D. 

100 95,

72, 73, 83

75 80

52 ≤ x < 77

25 < x < 75

75 < x < 80

73 < x < 100

https://dl.doubtnut.com/l/_r8bL07s4yDjz
https://dl.doubtnut.com/l/_hIUmlwCesMph


Answer: A

Watch Video Solution

41. Solve the following linear inequations in 

Watch Video Solution

R.

+ ≥
5x

2

3x

4

39

4

42. Solve the following linear inequations in 

Watch Video Solution

R.

− 3 < − 2
2(x + 3)

4

x − 4

3

https://dl.doubtnut.com/l/_hIUmlwCesMph
https://dl.doubtnut.com/l/_JRQ8sFmilIse
https://dl.doubtnut.com/l/_2S7aE79P6u0z


43. Solve each of the following system of equations in


Watch Video Solution

R.

1 ≤ |x − 2| ≤ 3

44. Solve each of the following system of equations in


Watch Video Solution

R.

1 ≤ |x − 2| ≤ 3

45. Solve the following linear inequation: 

Watch Video Solution

2x − 4 ≤ 0

https://dl.doubtnut.com/l/_f72OzSlnaY3Z
https://dl.doubtnut.com/l/_rPTThO7zIg5H
https://dl.doubtnut.com/l/_5IIA2ZMyEWID


46. Solve the following linear inequation: 

Watch Video Solution

−3x + 12 < 0

47. Solve the following linear inequation:

Watch Video Solution

 4x − 12 ≥ 0

48. Solve the following linear inequation: 

Watch Video Solution

 7x + 9 > 30

49. Solve the following inequation: 

Watch Video Solution

< 0
1

x − 2

https://dl.doubtnut.com/l/_ze8Kyl5YtYMa
https://dl.doubtnut.com/l/_lTnDZ2cUD5ZZ
https://dl.doubtnut.com/l/_UQL4mufwoO7y
https://dl.doubtnut.com/l/_V8Vet8wAVrwu


50. Solve the following inequation: 

Watch Video Solution

≥ 1
x + 1

x + 2

51. Solve the following linear inequation in

Watch Video Solution

R :   12x < 50,  when x ∈ R

52. Solve the following linear inequation in

Watch Video Solution

R :   12x < 50,  when x ∈ N

https://dl.doubtnut.com/l/_V8Vet8wAVrwu
https://dl.doubtnut.com/l/_8bWU546HMU5Y
https://dl.doubtnut.com/l/_vGGNgDIEtIN6
https://dl.doubtnut.com/l/_Cvzye1sneLRb


53. Solve the following linear inequation in

Watch Video Solution

R :   − 4x > 30,  when x ∈ R

54. Solve the following linear inequation in

Watch Video Solution

R :   − 4x > 30,  when x ∈ Z

55. Solve the following linear inequation in

Watch Video Solution

R :   − 4x > 30,  when x ∈ N

https://dl.doubtnut.com/l/_E03B069qkX8O
https://dl.doubtnut.com/l/_a9HJxSIJRzuy
https://dl.doubtnut.com/l/_N2CQK61SeBy4
https://dl.doubtnut.com/l/_4H8bYkpnjAql


56. Solve the following linear inequation in

Watch Video Solution

R :  4x − 2 < 8,  when x ∈ R

57. Solve the following linear inequation in

Watch Video Solution

R :  4x − 2 < 8,  when x ∈ Z

58. Solve the following linear inequation in

Watch Video Solution

R :  4x − 2 < 8,  when x ∈ N

https://dl.doubtnut.com/l/_4H8bYkpnjAql
https://dl.doubtnut.com/l/_Hf2vwSNUUkwA
https://dl.doubtnut.com/l/_ct8cm9c2ozgZ


59. Solve the following linear inequation in

Watch Video Solution

R : 3x − 7 > x + 1

60. Solve the following linear inequation in

Watch Video Solution

R : 2(3 − x) ≥ + 4
x

5

61. Solve the following linear inequation in

Watch Video Solution

R : < −
x

5

3x − 2

4

5x − 3

5

https://dl.doubtnut.com/l/_8nOziiGloTzw
https://dl.doubtnut.com/l/_BmLb1kZHRwHW
https://dl.doubtnut.com/l/_beXNjQihCfAR
https://dl.doubtnut.com/l/_N3qyxbklW9sH


62. Solve the following linear inequation in

Watch Video Solution

R : ≥ − 2
x − 1

3

x − 5

5

63. Solve the following linear inequation in

Watch Video Solution

R : ≥ − 3
4 + 2x

3

x

2

64. Solve the following linear inequation in 

Watch Video Solution

R : < 0
6x − 5

4x + 1

65. Solve the following linear inequation in R : ≤ 2
1

x − 1

https://dl.doubtnut.com/l/_N3qyxbklW9sH
https://dl.doubtnut.com/l/_uCmRbuOVXdAw
https://dl.doubtnut.com/l/_558ZnWgQpkQh
https://dl.doubtnut.com/l/_vUg18PNFOENW


Watch Video Solution

66. Solve the following linear inequation in 

Watch Video Solution

R : >
x

x − 5

1

2

67. Solve the following linear inequation in

Watch Video Solution

R : x + 5 > 4x − 10

68. Solve the following linear inequation in

Watch Video Solution

R : ≤
3x − 2

5

4x − 3

2

https://dl.doubtnut.com/l/_vUg18PNFOENW
https://dl.doubtnut.com/l/_bzmbj5kcqoGm
https://dl.doubtnut.com/l/_tgGsuAyC4hH4
https://dl.doubtnut.com/l/_FbIbdIf4gSi9


69. Solve the following linear inequation in

Watch Video Solution

R : − 2 <
2x + 3

5

3(x − 2)

5

70. Solve the following linear inequation in 

Watch Video Solution

R : > 0
2x − 3

3x − 7

71. Solve the following linear inequation in 

Watch Video Solution

R : > 2
x − 1

x + 3

https://dl.doubtnut.com/l/_l4zV4DvHYRaf
https://dl.doubtnut.com/l/_SXDNiV2qBsCe
https://dl.doubtnut.com/l/_h8njzljSpjRH


72. Solve the following linear inequation in

Watch Video Solution

R : 3x + 9 ≥ − x + 19

73. Solve the following linear inequation in

Watch Video Solution

R :   − (x − 3) + 4 < 5 − 2x

74. Solve the following linear inequation in

Watch Video Solution

R : < − 5
5 − 2x

3

x

6

https://dl.doubtnut.com/l/_JhZXtC2vT5ID
https://dl.doubtnut.com/l/_GJGvcbJpP4Rv
https://dl.doubtnut.com/l/_6QAOAie8EB9p
https://dl.doubtnut.com/l/_obU0tvbNZB4D


75. Solve the following linear inequation in

Watch Video Solution

R : x − 2 ≤
5x + 8

3

76. Solve the following linear inequation in 

Watch Video Solution

R : < 1
3

x − 2

77. Solve the following linear inequation in 

Watch Video Solution

R : < 1
5x − 6

x + 6

78. Solve 

Watch Video Solution

−11 ≤ 4x − 3 ≤ 13

https://dl.doubtnut.com/l/_obU0tvbNZB4D
https://dl.doubtnut.com/l/_kRixorfwBG98
https://dl.doubtnut.com/l/_M6mWmF0J3Jmz
https://dl.doubtnut.com/l/_GXVlMihnl5QY


79. Solve each of the following system of equation in

Watch Video Solution

R : x + 3 > 0,  2x < 14

80. Solve each of the following system of equation in

Watch Video Solution

R : 3x − 6 > 0,  2x − 5 > 0

81. Solve each of the following system of equation in

Watch Video Solution

R : 3x − 1 ≥ 5,  x + 2 ≻ 1

https://dl.doubtnut.com/l/_GXVlMihnl5QY
https://dl.doubtnut.com/l/_8UGlqf2DCJU2
https://dl.doubtnut.com/l/_AcTN4QW27FO5
https://dl.doubtnut.com/l/_b8IevPNuNOPV


82. Solve each of the following system of equation in

Watch Video Solution

R : 2(x − 6) < 3x − 7,  11 − 2x < 6 − x

83. Solve each of the following system of equation in

Watch Video Solution

R : > 5, > 2
2x + 1

7x − 1

x + 7

x − 8

84. Solve each of the following system of equation in

Watch Video Solution

R : 10 ≤ − 5(x − 2) < 20

https://dl.doubtnut.com/l/_SxxtagaFJBLQ
https://dl.doubtnut.com/l/_sCXfLiw6lxHJ
https://dl.doubtnut.com/l/_UcKHhwd37sGU
https://dl.doubtnut.com/l/_BVxXvgb5sxsv


85. Solve each of the following system of equation in

Watch Video Solution

R : 2x − 7 > 5 − x,  11 − 5x ≤ 1

86. Solve each of the following system of equation in

Watch Video Solution

R : 2x + 6 ≥ 0,  4x − 7 < 0

87. Solve each of the following system of equation in

Watch Video Solution

R : 2x − 3 < 7, 2x > 4

https://dl.doubtnut.com/l/_BVxXvgb5sxsv
https://dl.doubtnut.com/l/_WaEPKo5FHVPr
https://dl.doubtnut.com/l/_gRiYAefTo83F


88. Solve each of the following system of equation in

Watch Video Solution

R : 5x − 1 < 24, 5x + 1 > 24

89. Solve each of the following system of equation in

Watch Video Solution

R : 11 − 5x ≻ 4,  4x + 13 ≤ − 11

90. Solve each of the following system of equation in

Watch Video Solution

R : 5x − 7 > 3(x + 3),  1 − ≥ x − 4
3x

2

https://dl.doubtnut.com/l/_x501TOEuhGIh
https://dl.doubtnut.com/l/_tJaHDoSbrSk1
https://dl.doubtnut.com/l/_FoQ6BnOG8zVu
https://dl.doubtnut.com/l/_st2p3KMYnjnk


91. Solve each of the following system of equation in

Watch Video Solution

R : < − 3, + 11 < 0
7x − 1

2

3x + 8

5

92. Solve each of the following system of equation in

Watch Video Solution

R : − 5 < 2x − 3 < 5

93. Solve the inequation for ; if 

Watch Video Solution

x |3x − 2| ≤
1

2

https://dl.doubtnut.com/l/_st2p3KMYnjnk
https://dl.doubtnut.com/l/_Ciz90IKvm65V
https://dl.doubtnut.com/l/_zfZm1dzxFzP1


94. Solve each of the following system of equation in

Watch Video Solution

R :
∣
∣
∣
x +

∣
∣
∣
>

1

3

8

3

95. Solve each of the following system of equation in

Watch Video Solution

R :
∣
∣
∣

∣
∣
∣
≤

3x − 4

2

5

12

96. Solve each of the following system of equation in

Watch Video Solution

R : <
1

|x| − 3

1

2

https://dl.doubtnut.com/l/_5KzPpTSnf7jx
https://dl.doubtnut.com/l/_7rgw6POZpw9N
https://dl.doubtnut.com/l/_hTasHHL5JmBs
https://dl.doubtnut.com/l/_waTcAAcoIYUr


97. Solve each of the following system of equation in

Watch Video Solution

R :
∣
∣
∣

∣
∣
∣
> 2

2x − 1

x − 1

98. Solve each of the following system of equation in

Watch Video Solution

R : |4 − x| + 1 < 3

99. Solve each of the following system of equation in

Watch Video Solution

R : > 0
|x − 2|

x − 2

https://dl.doubtnut.com/l/_waTcAAcoIYUr
https://dl.doubtnut.com/l/_3geHnG90edSb
https://dl.doubtnut.com/l/_uiOV3KP3knxo


100. Solve each of the following system of equation in

Watch Video Solution

R : < 2
|x + 2|

x

101. Find all pairs of consecutive odd positive integers, both of

which are
 smaller than 18, such that their sum is more than

20.

Watch Video Solution

102. Find all pairs of consecutive even positive integers, both

of which are
larger than 8, such that their sum is less than 25.

Watch Video Solution

https://dl.doubtnut.com/l/_IDxL6vLM9crR
https://dl.doubtnut.com/l/_ppdm4asSJ2gK
https://dl.doubtnut.com/l/_GIITHNhPjFRQ


103. The cost and revenue functions of a product are given by


respectively, where 

is the number of items produced by the manufacturer. How

many items the
manufacturer must sell to realize some profit?

Watch Video Solution

C(x) = 2x + 400 and R(x) = 6x + 20 x

104. IQ of a person is given by formula: IQ


 is mental age and CA is

chronological age. If 
 for a group of 12 year

children, find the range of their mental age.

Watch Video Solution

= × 100 ,  where MA
MA

CA

80 ≤ IQ ≤ 140

https://dl.doubtnut.com/l/_Q38uYjs1Tsbl
https://dl.doubtnut.com/l/_oDncpOVfhceE


105. Find all pairs of consecutive add positive integers both of

which are smaller than 10 such that their sum is more than 11,

Watch Video Solution

106. Find all pairs of consecutive odd natural number, both of

which are
larger than 10, such that their sum is less than 40.

Watch Video Solution

107. Find all pairs of consecutive even positive integers, both

of which are
larger than 5, such that their sum is less than 23.

Watch Video Solution

https://dl.doubtnut.com/l/_981FANXe1mLj
https://dl.doubtnut.com/l/_bznDvsmX8xk3
https://dl.doubtnut.com/l/_k0Iw4y9EH6Z7
https://dl.doubtnut.com/l/_szWcK4i8pVHr


108. The marks scored by Rohit in two tests were 65 and 70.

Find the minimum
marks he should score in the third test to

have an average of at least 65
marks.

Watch Video Solution

109. A solution is to be kept between 
. What is

the range of temperature in degree Fahrenheit?

Watch Video Solution

300C and 350C

110. To receive grade A in a cource, one must obtain an

average of 90 marks
or more in five papers each of 100 marks.

If Shikha scored 87, 95, 92 and 94
 marks in first four papers

find the minimum marks that she must score in the
last paper

to get grade A in the course.

https://dl.doubtnut.com/l/_szWcK4i8pVHr
https://dl.doubtnut.com/l/_huvuiNPKl5B9
https://dl.doubtnut.com/l/_BCQZDy60jv5m


Watch Video Solution

111. The longest side of a triangle is three times the shortest

side and the
third side is 2 cm shorter than the longest side if

the perimeter of the
 triangles at least 61 cm, find the

minimum length of the shortest side.

Watch Video Solution

112. How may litres of water will have to be added to 1125

litres of the 
 solution of acid so that the resulting

mixture will contain more than 
 but less than 30% acid

content?

Watch Video Solution

45%

25%

https://dl.doubtnut.com/l/_BCQZDy60jv5m
https://dl.doubtnut.com/l/_AGn0YQU6gWNk
https://dl.doubtnut.com/l/_N6d8JwDE7B8r


113. A solution of 8% boric acid is to be diluted by adding a 2%

boric acid
 solution to it. The resulting mixture is to be more

than 4% but less than 6%
boric acid. If there are 640 litres of

the 8% solution, how many litres of 2%
 solution will have to

be added?

Watch Video Solution

114. The water acidity in a pool is considered normal when the

average pH
 reading of three daily measurements is between

7.2 and 7.8. If the first tow
 pH reading are 7.48 and 7.85, find

the range of pH value for  the third reading that will result in

the
acidity level being normal.

Watch Video Solution

https://dl.doubtnut.com/l/_x6nO2DUor1gS
https://dl.doubtnut.com/l/_r0JmFWfcIhwx
https://dl.doubtnut.com/l/_TI7UtaDD0hNl


115. Solve the following inequation graphically: 

Watch Video Solution

 2x + 3y ≤ 6

116. Solve the following inequation graphically: 


Watch Video Solution

  2x − y ≥ 1

117. Solve the following inequation graphically: 

Watch Video Solution

 x ≥ 2

118. Solve the following inequation graphically: 

Watch Video Solution

  y ≤ − 3

https://dl.doubtnut.com/l/_TI7UtaDD0hNl
https://dl.doubtnut.com/l/_WtbLedmdjaeX
https://dl.doubtnut.com/l/_0oNovR30wTB9
https://dl.doubtnut.com/l/_tgrUkkmppogY


119. Represent to solution set of each of the following

inequation
 graphically in two dimensional plane:

Watch Video Solution

 x + 2y − y ≤ 0

120. Represent to solution set of each of the following

inequation
graphically in two dimensional plane: 

Watch Video Solution

  x − 2y < 0

121. Represent to solution set of each of the following

inequation
 graphically in two dimensional plane:

Watch Video Solution

  0 ≤ 2x − 5y + 10

https://dl.doubtnut.com/l/_hvQBYL5yXcx3
https://dl.doubtnut.com/l/_qIsQYccSevWG
https://dl.doubtnut.com/l/_ruzwqUW9ZM1C


122. Represent to solution set of each of the following

inequation
 graphically in two dimensional plane:

Watch Video Solution

 3x − 2y ≤ x + y − 8

123. Represent to solution set of each of the following

inequation
graphically in two dimensional plane: 

Watch Video Solution

  x + 2y ≥ 6

124. Represent to solution set of each of the following

inequation
 graphically in two dimensional plane:

  − 3x + 2y ≤ 6

https://dl.doubtnut.com/l/_ruzwqUW9ZM1C
https://dl.doubtnut.com/l/_TjU9EHrRUTa3
https://dl.doubtnut.com/l/_RZeCOBLSaAaB
https://dl.doubtnut.com/l/_Jbn6GC4ytsQ0


Watch Video Solution

125. Represent to solution set of each of the following

inequation
 graphically in two dimensional plane:

Watch Video Solution

  3y > 6 − 2x

126. Represent to solution set of each of the following

inequation
graphically in two dimensional plane: 

Watch Video Solution

  x + 2 ≥ 0

127. Represent to solution set of each of the following

inequation
graphically in two dimensional plane:   x ≤ 8 − 4y

https://dl.doubtnut.com/l/_Jbn6GC4ytsQ0
https://dl.doubtnut.com/l/_nDMGt8kYgTHV
https://dl.doubtnut.com/l/_cmP3TY3nU6dt
https://dl.doubtnut.com/l/_ntvjRhJcUt3s


Watch Video Solution

128. Represent to solution set of each of the following

inequation
graphically in two dimensional plane: 

Watch Video Solution

  y > 2x − 8

129. Draw the diagram f the solution set of the linear

inequations 

Watch Video Solution

3x + 4y ≥ 12,  y ≥ 1,  x ≥ 0.

130. Find the linear equations for which the shaded
 area in

Fig: 15.39 is the solution set.

Watch Video Solution

https://dl.doubtnut.com/l/_ntvjRhJcUt3s
https://dl.doubtnut.com/l/_vghR8qqdWYKf
https://dl.doubtnut.com/l/_7ov7vaszNKV7
https://dl.doubtnut.com/l/_ffFqvMdkdtYw


Watch Video Solution

131. Find the linear inequations for which the shaded
region in

fig. 15.40 is the solution set.

Watch Video Solution

132. solve the following system of inequation by graphical

method: 

Watch Video Solution

2x + 3y ≤ 6, 3x + 2y ≤ 6, x ≥ 0, y ≥ 0

133. Solve the following system of linear inequation

graphically: 

https://dl.doubtnut.com/l/_ffFqvMdkdtYw
https://dl.doubtnut.com/l/_fVaJP64zxfs9
https://dl.doubtnut.com/l/_epEl2cbArnqP
https://dl.doubtnut.com/l/_vhdCyY1hS6jf


Watch Video Solution

x − y ≤ 1,  x + 2y ≤ 8,  2x + y ≥ 2,  x ≥ 0,  y ≥ 0

134. Solve the following system of linear inequation

graphically: 

Watch Video Solution

x + y ≥ 1,  7x + 9y ≤ 63,  x ≤ 6,  y ≤ 5,  x ≥ 0,  y ≥ 0

135. Solve the following system of linear inequation

graphically: 

Watch Video Solution

 2x + 3y ≤ 35,  y ≥ 3,  x ≥ 2,  x ≥ 0,  y ≥ 0

https://dl.doubtnut.com/l/_vhdCyY1hS6jf
https://dl.doubtnut.com/l/_aKU4bSCr5BNj
https://dl.doubtnut.com/l/_svhvnf1NgiM7


136. Solve the following system of linear inequation

graphically: 2x+y≥4,x+y≤3,2x−3y≤6

Watch Video Solution

137. Show that the solution set of the following linear

inequations is empty
 set:

Watch Video Solution

x − 2y ≥ 0,  2x − y ≤ − 2,  x ≥ 0,  y ≥ 0

138. Show that the solution set of the following linear

inequations is empty
 set:

Watch Video Solution

x + 2y,   ≤ 3,  3x + 4y ≥ 12,  y ≥ 1,  x ≥ 0,  y ≥ 0

https://dl.doubtnut.com/l/_2MIrQhL4DIQ3
https://dl.doubtnut.com/l/_xm1GokcVLFi8
https://dl.doubtnut.com/l/_PQ3Xn1Zp4AB2


139. Find the linear inequations for which the shaded area in

fig. 15.41 is
the solution set. Draw the diagram of the solution

set of the linear
inequations.

Watch Video Solution

140. Find the linear inequations for which the solution set is

the shaded
region given in fig. 15.42.

Watch Video Solution

141. Solve the following systems of inequation graphically:

W t h Vid S l ti

2x + y ≥ 8,  x + 2y ≥ 8,  x + y ≤ 6

https://dl.doubtnut.com/l/_PQ3Xn1Zp4AB2
https://dl.doubtnut.com/l/_tOyD1wX0UPJq
https://dl.doubtnut.com/l/_h6IfXY84TTB4
https://dl.doubtnut.com/l/_hBIr7rtCkc1h


Watch Video Solution

142. Solve the following systems of inequation graphically:

Watch Video Solution

12x + 12y ≤ 840,  3x + 6y ≤ 300,  8x + 4y ≤ 480 x ≥ 0,  y ≥ 0

143. Solve the following systems of inequation graphically:

Watch Video Solution

x + 2y ≤ 40,  3x + y ≥ 30,  4x + 3y ≥ 60,  x ≥ 0,  y ≥ 0

144. Solve the following systems of inequation graphically:

Watch Video Solution

 5x + y ≥ 10,  2x + 2y ≥ 12,  x + 4y ≥ 12,  x ≥ 0,  y ≥ 0

https://dl.doubtnut.com/l/_hBIr7rtCkc1h
https://dl.doubtnut.com/l/_SzDIme5jyLZ9
https://dl.doubtnut.com/l/_gbCta20lpHiX
https://dl.doubtnut.com/l/_n5RFaa4IsFpK


145. Show that the solution set of the following system of

linear
 inequalities in an unbounded region

Watch Video Solution

2x + y ≥ 8,  x + 2y ≥ 10,  x ≥ 0,  y ≥ 0.

146. Write the following set of the inequation 

Watch Video Solution

> 0.
x2

x − 2

147. Write the solution set of the inequation 

Watch Video Solution

x + ≥ 2.
1

x

https://dl.doubtnut.com/l/_n5RFaa4IsFpK
https://dl.doubtnut.com/l/_xV6K4D6Z5Pjj
https://dl.doubtnut.com/l/_hnK0PpctqKXp
https://dl.doubtnut.com/l/_Gvfki2WRA4qD


148. Write the solution set of the equation 

Watch Video Solution

|2 − x| = x − 2.

149. Writhe the set of values of 
 satisfying

Watch Video Solution

x

|x − 1| ≤ 3 and |x − 1| ≤ 1.

150. The number of integral solutions of 
is
(A) 4

(B) 5 (C) 3 (D) 2 (E) 6

Watch Video Solution

>
x + 2

x2 + 1

1

2

https://dl.doubtnut.com/l/_4YJWN08ThKiY
https://dl.doubtnut.com/l/_sUBMamNgV5kh
https://dl.doubtnut.com/l/_cqx9ZrWmAITP


151. Write the solution set of the inequation

Watch Video Solution

|x − 1| ≥ |x − 3|.

152. If 
 then
 
 b. 
 c. 
 d. 

Watch Video Solution

x < 7 a. − x < − 7 −x ≤ 7 −x ≻ 7

−x ≥ − 7

153. If 
 
 b. 

c. 
d. 

Watch Video Solution

−3x + 17 < − 13,  then x ∈ (10, ∞) x ∈ [10, ∞)

x ∈ ( − ∞,  10] x ∈ [ − 10, 10)

https://dl.doubtnut.com/l/_SxeqQxYl8DWJ
https://dl.doubtnut.com/l/_XQSVTbP4Q2v4
https://dl.doubtnut.com/l/_4vV0cau4ZKNo
https://dl.doubtnut.com/l/_mBDR3wyrratP


154. Given that 
are real numbers and 

then `x/b y/b x/b>=y/b`

Watch Video Solution

x, y and b x > y, b > 0

d.

155. If 
is a real number and 
then
X

Watch Video Solution

x |x| < 5,

156. If 
 are real numbers such that 
 and 


 then (a)
 
 b. 
 c. 

 d . 

Watch Video Solution

x and a a > 0

|x| > a, x ∈ ( − a, ∞) x ∈ [ − ∞, a)

x ∈ ( − a, a) x ∈ ( − ∞, − a)U(a, ∞)

https://dl.doubtnut.com/l/_mBDR3wyrratP
https://dl.doubtnut.com/l/_FtBf74YvzmcE
https://dl.doubtnut.com/l/_Zl7KUn2nARt3


157. If 
 then
 a. 
 b. 
 c. 


d. 

Watch Video Solution

|x − 1| > 5, x ∈ ( − 4, 6) x ∈ [ − 4, 6]

x ∈ ( − ∞, − 4) ∪ (6, ∞) x ∈ ( − ∞, − 4) ∪ [6, ∞)

158. If ,
then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

|x + 2| ≤ 9

x ∈ ( − 7, 11)

x ∈ [ − 11, 7]

x ∈ ( − ∞, 7) ∪ (11, ∞)

x ∈ ( − ∞, − 7) ∪ [11, ∞)

https://dl.doubtnut.com/l/_DIVNaYDkhCQb
https://dl.doubtnut.com/l/_Rh8eHIpfH9Ki


159. Represent the graph of following inequality 

Watch Video Solution

|x| ≤ 3

160. The linear inequality  of which write the solution

set and draw graph.

Watch Video Solution

|x| ≤ 5

161. The solution set of the inequation 
is


b. 
c. 
d. 

Watch Video Solution

|x + 2| ≤ 5 ( − 7, 5)

[ − 7, 3] [ − 5, 5] ( − 7, 3)

https://dl.doubtnut.com/l/_ULJm3JtH4XtY
https://dl.doubtnut.com/l/_bWzs71COK6Hf
https://dl.doubtnut.com/l/_1tNkXts5XKvC


162. If 
 then
 
 b. 


 c. 
 d. 

Watch Video Solution

|x + 3| ≥ 10, x ∈ ( − 13,  7]

x ∈ ( − ∞, − 13) ∪ (7, ∞) x ∈ ( − 13, 7)

x ∈ ( − ∞,   − 13] ∪ [7, ∞)

163. If  then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

≥ 0,
|x − 2|

x − 2

x ∈ [2, ∞)

x ∈ (2, ∞)

x ∈ ( − ∞, 2)

x ∈ ( − ∞, 2]

https://dl.doubtnut.com/l/_m5QcY1UenxzQ
https://dl.doubtnut.com/l/_tDxEvh60KhhX


https://dl.doubtnut.com/l/_tDxEvh60KhhX

